4+#8 / External View

B AZ / Components [ (x®&2 : TY-34)2008.02.08
No. %# / Part name & / Pcs MEB / Material - XMW / Color- Finish
1 by 7HN— / Top cover 1 ABSEtRE / ABS AJ{NT V- / White gray
2 |K7+«— / Base 1 ABSEtRE / ABS AJ4NT V- / White gray
3 |[AFvy b / Gasket 1 A Y703y / Polyurethane 73y / Black
. . L |7y ¥ / Latch 3 A3VbA / Stainless steel w8 / Unfinished
5 [Emftx—ZAEAMS x 10) 6 K =ffioox-+
Screw(M5 - 10) Steel Trivalent chromate
6 |YMEREXFT R 6 Sl I8
Mounting brakef Stainless steel Unfinished
7T |EffAE A (M5 x 10) 6 sk =f@i7ox-+
Screw(M5 x 10) Steel Trivalent chromate
e == =5 F7=-7W57—% / Technical Data
= =J REZML / Protection class IP65
EARESERE / Operating temperature | -10C ~ +60C
WM 2 2 2/ Flammability class UL9LHB
730 255 2
662
626 35
156.5 156.5 156.5
ALl L |/ — | |/ —-— 9 fll?m“lun|||||||||||||||||||||||||I||:I|m1cn'||||||||||||||||||||||||| ||||||||ﬁlnl%'n\
. HP.ooollccocco S 00000« Mo o6 A
' i =l o =
i | =[P I=
- I El() ()li
o | =] @ Cl:
Il | 1IDS PR
. =[pe olB
o || ~ | I ': ;!C !;
PRy = | % == ==
2 =1k oIE
N il gﬁﬁ vocllljecccse g 00oeoa|oee <>,:;§
- A E i ! !! ! ! !E :IIIIIIIIIIIIIIIIIIIIIIIII\IO/II Illllllllll]U_l_l_//
6-M5478-~Fyh
L7 6 365 6-M5 Insert nut
Pl L
||| =T |
[ == 1
| T =
D w» | i
o~ O | I I
N i il
I fft &% /Title
RIS D FRBIE BK - BERMRABSTI Ky 22| O ]
6—M547ﬁ‘|‘7“)|‘ 6913 TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 LATCH-HINGED ABS PLASTIC BOX
6-M5 Insert nut &I /Approved | R /Checked | #E/Created |E% /Product number RE/Scale‘m
- BCAP507025G ‘
PR BH =) 172
{ER B /Date 2021/06/04




R#] / Internal View

2 255

AT 1 — (FR)

Base (Internal View)

- | 1|
© © ©
o3 é ®
®© ©

o <

M

LN ~ e N e
@ @
A4 A4
© @ ©
& ©

— 7 AN

Na}

m

o~

E

pw}

=

o

>

~

I

=

B~TZE /Max dim.

676.2

AOA
<N

6-M54 - rFyh

6-M5 Insert nut

BE~TE /Max dim. 475

HN—(AR)
Cover (Internal View)

[(x®m&= : TY-34)2008.02.08

6-M547%-hFyh

6-M5 Insert nut

BRARH I HTFERTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&R/ Approved

PR

&M /Checked

B H

8 /Created

/,

o

&% /Title
. N |
BK - BHEERIBNABST 7 Ky 7 A O L
IP65 LATCH-HINGED ABS PLASTIC BOX
7% /Product number Rg/smliﬁ
BCAP507025G :
{ERB /Date 2021/06/04 2/ 2




	BCAP507025G Model (1).pdf
	BCAP507025G Model (2).pdf

